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In ���� the following relationship holds: 

�� =
2��

�� + ��
 (��� �������) 

�� − �� =
��(� − �)�

�� + ��
≤

1

2
|� − �|. 

If � = � we have equality. 

If � ≠ � ⇒
��(���)�

����� <
�

�
|� − �| ⇔

��|���|

����� <
�

�
⇔ 2��|� − �| < �� + �� 

⇔ 2��|� − �| < |�� − ��| true from |�� − ��| < �� + ��. 
So, we have a new inequality: 

�

�
|� − �| ≥ �� − �� (��� �������); (�) 

1

2
�|� − �|

���

= max{�, �, �} − min{�, �, �} ⇒ 

���{�, �, �} − ���{�, �, �} ≥ �(�� − ��)

���

; (�) 

But �
|� − �| ≥ �� − ��

�

�
|� − �| ≥ �� − ��

⇒ 

�

�
|� − �| ≥ �� + �� − �� − �� (��� �������); (�) 

Adding these up relations, we get: 

���{�, �, �} − ���{�, �, �} ≥
�

�
⋅ �(�� + �� − �� − ��)

���

; (�) 

3

2
|� − �| ≥ �� + �� − �� − ��; �� + �� ≥ 2�� ⇒ �� ≥ 2�� − �� 

3

2
|� − �| ≥ 2�� − �� + �� − �� − �� = 3�� − 2�� − �� 

⇒
�

�
|� − �| ≥

�

�
�� − ��� − �� (��� �������); (�) 

Adding these up relations, we get: 

���{�, �, �} − ���{�, �, �} ≥
�

�
⋅ �(��� − ��� − ��)

���

; (�) 
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max{�, �, �} − min{�, �, �} ≥
1

3
⋅ (�� + �� + ��) +

1

3
⋅ �(�� − �� − ��)

���

 

But �� + �� + �� ≥ ��4 −
��

�
 then, 

max{�, �, �} − min{�, �, �} ≥
1

3
⋅ ��4 −

2�

�
+

1

3
⋅ �(�� − �� − ��)

���

 

So, it follows that: 

�(���{�, �, �} − ���{�, �, �}) ≥ ��� −
��

�
+ �(�� − �� − ��)

���

; (�) 

�� = ��
� + 2��ℎ� ⇒

��

ℎ�
�

=
��

�

ℎ�
�

+
2��

ℎ�
;  � ⋅ ℎ� = 2�� ⇒

�

2�
=

�

ℎ�
 

⇒
��

4��
=

��
�

ℎ�
�

+
2��

ℎ�

(��� �������) 

���� = �(� − �) =
(� + � + �)(� + � − �)

4
=

(� + �)� − ��

4
 

�� = (� + �)� − 4����; 
��

4��
=

(� + �)�

4��
−

����

��
 

��
�

ℎ�
�

+
2��

ℎ�
=

(� + �)�

4��
−

����

��
 

�

2�
⋅

��

ℎ�
=

�� − �

4�
= sin�

�

2
⇒

��

ℎ�
=

�� − �

2�
 (��� �������) 

�� = ���� + ���; 
(� + �)�

4��
=

��
�

ℎ�
�

+
�� − �

�
+

����

��
 

(� + �)�

4��
=

��
�

ℎ�
�

+
�� − ��

��
⇒ 1 +

(� + �)� − 4��

4��
=

��
�

ℎ�
�

 

So, it follows that: 

��
�

��
�

= � +
(� − �)�

���
 (��� �������); (�) 

(� − �)�

4
≥

(�� + �� − �� − ��)�

9
�⋅ �

1

��
+ 1� ⇒ 

1 +
(� − �)�

4��
≥

9�� + (�� + �� − �� − ��)�

9��
 

��
�

ℎ�
�

≥
9�� + (�� + �� − �� − ��)�

9��
 

So, it follows that: 

��

ℎ�
≥

�9�� + (�� + �� − �� − ��)�

3�
;

1

ℎ�
+

1

ℎ�
+

1

ℎ�
=

1

�
⇒ 
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� ≥ �
���� + (�� + �� − �� − ��)�

��
���

; (�) 

��

4��
=

��
�

ℎ�
�

+
2��

ℎ�
≥

9�� + (�� + �� − �� − ��)�

9��
+

�� − �

�
 

��

4��
≥

9�� + (�� + �� − �� − ��)� + 9��� − 9��

9��
 

��

4��
≥

9��� + (�� + �� − �� − ��)�

9��
 

9��

4��
≥

9��� + (�� + �� − �� − ��)�

��
 

�

�
≥

����� + (�� + �� − �� − ��)�

�
 (��� �������); (��) 

Summing, we get: 

�

�
≥ �

����� + (�� + �� − �� − ��)�

�
���

; (��) 

3

2
� ≥ �9��� + (�� + �� − �� − ��)� ⇒ 

3

2
(� + � + �) ≥ � �9��� + (�� + �� − �� − ��)�

���

 

�� ≥ � ����� + (�� + �� − �� − ��)�

���

; (��) 

�� = ��
� + 2��ℎ� ⇒ 2��ℎ� = �� − ��

� = (� + ��)(� + ��) 

� − �� =
2��ℎ�

� + ��
⇒ � = �� +

2��ℎ�

� + ��
 (��� �������) ⇒ 

3� = �� + �� + �� + �
2��ℎ�

� + ��
���

 

So, it follows that: 

�� + �� + �� + �
�����

� + ��
���

≥ � ����� + (�� + �� − �� − ��)�

���

; (��) 

⎩
⎪
⎨

⎪
⎧ �

ℎ�
=

�

2�
=

��

ℎ�
+

2��

� + ��

�

2�
≥

�9��� + (�� + �� − �� − ��)�

3�

⇒ 

��

��
+

��

� + ��
≥

����� + (�� + �� − �� − ��)�

��
; (��) 
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sin � = 2 sin
�

2
cos

�

2
; sin�

�

2
+ cos�

�

2
= 1; tan

�

2
=

��

�
 

sin � =
2 sin

�
2 cos

�
2

sin� �
2 cos� �

2

⋅

1

cos� �
2

1

cos� �
2

=
2 tan

�
2

1 + tan� �
2

 

sin � =
2���

�� + ��
�

; �� = ��
� + 2��ℎ� 

1

sin �
=

��
� + ��

� + 2��ℎ�

2���
≥

2���� + 2��ℎ�

2���
=

�� + ℎ�

�
 

So, we have: 
1

sin �
≥

�� + ℎ�

�
 (��� �������); 2� = �� ⋅ sin � 

⇒ �� =
2�

sin �
≥

2�(�� + ℎ�)

�
≥ 2�(�� + ℎ�) 

�� = 2�ℎ� ≥ 2�(�� + ℎ�) ⇒
�

�
≥

�� + ℎ�

ℎ�
 

⇒
� − �

�
≥

�9�� + (�� + �� − �� − ��)�

3�
 

�(� − �) ≥ ���� + (�� + �� − �� − ��)�; (��) 
9�� − 18�� + 9�� ≥ 9�� + (�� + �� − �� − ��)� 

9�(� − 2�) ≥ (�� + �� − �� − ��)� 
So, we get: 

��(� − ��) ≥ (�� + �� − �� − ��)�; (��) 

Now, using : �� − ℎ� ≥
(���)�

��
 (��� �������) 

�(�� − ℎ�)

2��
≥

(� − �)�

4��
;
(� − �)�

4��
=

��
�

ℎ�
�

− 1 (��� �������) 

�(�� − ℎ�)

2��
≥

��
� − ℎ�

�

ℎ�
�

⇒
ℎ�

�

2��
(�� − ℎ�) ≥

��
� − ℎ�

�

�
 

ℎ�

2��
(�� − ℎ�) ≥

��
� − ℎ�

�

2�
=

��
� − ℎ�

�

2��
 

�

�
(�� − ℎ�) ≥

(�� − ℎ�)(�� + ℎ�)

ℎ�
 

�

�
⋅

�� − ℎ�

�� + ℎ�
≥

�� − ℎ�

ℎ�
=

��

ℎ�
− 1 ⇒

�

�
⋅

�� − ℎ�

�� + ℎ�
≥

��

ℎ�
− 1 

So, we get: 

�

�
⋅

�� − ℎ�

�� + ℎ�
≥

�9�� + (�� + �� − �� − ��)� − 3�

3�
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�� − ��

�� + ��
≥

���� + (�� + �� − �� − ��)� − ��

��
; (��) 

�
�� − ��

�� + ��
���

≥ �
���� + (�� + �� − �� − ��)� − ��

��
���

; (��) 

��
� = �� − 2��ℎ�; 

��
�

ℎ�
=

��

ℎ�
− 2�� ⇒ �

��
�

ℎ�
���

=
��

�
− 2(4� + �) 

�
��

�

ℎ�
���

=
�� − 2�(4� + �)

�
;
��

ℎ�
=

��

�ℎ�

⋅
1

�ℎ�

 

�
��

ℎ�
���

≤
���

��
��

�

ℎ�
+

��
�

ℎ�
+

��
�

ℎ �
� �

1

ℎ�
+

1

ℎ�
+

1

ℎ�
� 

�
��

��
���

≥
�

��
⋅ � ���� + (�� + �� − �� − ��)�

���

; (��) 

��� − ��(�� + �) ≥
�

�
⋅ � ���� + (�� + �� − �� − ��)�

���

; (��) 

But: �� ≤ 4�� + 4�� + 3�� (���������) ⇒ 

�
��

ℎ�
���

≤ �
4�� + 4�� + 3�� − 8�� − 2��

��
= �

(2� − �)�

��
 

�
��

��
���

≤
�� − �

�
⇒ �(�� − �) ≥ � ���� + (�� + �� − �� − ��)�

���

; (��) 

We known that: ���� ≥ ����, �� + �� ≥ 2�� and 
����(�����)

���
≥ ��

�. 

But: ��
� = ���� +

1

4
(� − �)� ⇒

����(�� + ��)

2��
− ���� ≥

1

4
(� − �)� 

�
����(�� + ��)

2�� 
– ���� ≥

1

2
|� − �| 

Summing, we get: 

� �
����(�� + ��)

��� 
– ����

���

≥ ���{�, �, �} − ���{�, �, �} ; (��) 

� �
����(�� + ��)

��� 
– ����

���

≥ �(�� − ��)

���

; (��) 
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� �
����(�� + ��)

��� 
– ����

���

≥
�

�
⋅ �(�� + �� − �� − ��)

���

; (��) 

� �
����(�� + ��)

��� 
– ����

���

≥
�

�
⋅ �(��� − ��� − ��)

���

; (��) 

��

ℎ�
+

��

ℎ�
+

��

ℎ�
=

2� − �

�
≥

��

ℎ�
+

��

ℎ�
+

��

ℎ�
 

��

��
+

��

��
+

��

��
≥

�

��
⋅ � ���� + (�� + �� − �� − ��)�

���

; (��) 
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